[image: image1.png]L‘F‘

ibr
Fle. Device
[Fam Hex [Rox [t Iwn |ne | DT A
T [ 0475 1021 T B b B O
2 00 00 4341 11145 1 FAM3E 0.0000 0.0000
3 0o 00l3sa7 5065 1 FAMAS_|0.0000 00000 00000 (iezd
Ca— oo ooi7en 455 HEX36 |0.0000 0.0000 0.0000 Wit
s oo 00j1118 it 2 HEX48 |0.0000 0.0000 0.0000 e ]
5 0s Ooga 472 2
2 o I Raxa6 00007 00043 00124
5 i) otls s 5 Raxea_|0.0000 00000 00000
| 0s Ooagz 7 s
| 0o 08198 3 -
11 00 00288 158.5] 4 B ] 2
2 0s Oos 141 i
2 Rotr Tpagu
2 0s 00135 a1 s =
| o0 EET R s crmos | Meooes [0 Sl - cowexas @ Aok
15 0o 0015 B39 s I~ FAM [ HEX @ ROX
16 0o 0098 189 C Rag02 Run COFAM4E O HEX43 C ROX4S
17 0s 0001 a1
e 0s 00 8
s 0s 0082 0
| 0s 00le7 147
2| 0s 00lss 143
2| 0s 0o7s 08
| 0s 0077 2
T 0s 0o77 0
x| 0s 00les Bs
x| 0s 00les [
7| 0s 00les 8s
| 0s 00les 64
x| 0s 00les 56
| 0s 00les 5%
| 0s 00les 8s
2| 0s 00les 8s
| 0s 00les 8s
W 0s 00les 8s
x| 0s 00les [
x| 0o 0oles 8s

=




